

L G S E T A 47 Van Buuren Road, Bedfordview 2007, P O Box 1964, Bedfordview 2008

Telephone 011-456-8579 Facsimile 011-450-4948 Email info@lgseta.org.za Website http://www.lgseta.org.za

IEFA CC.

P.O. Box 524 Bedfordview

2008

For attention: Dick Kelder

Notification of accreditation with the LGSeta

Enclosed herewith please find your company's status with the LGSeta

The accreditation status with the LGSeta include:

A. Your company's accreditation number with LGSETA	LG141P
B. Your company's unique identifier with the LGSeta	LGWR-141
(The above identifier must be referenced during provider	r data loads)
C. Your ETQA ID with the LGSeta	597
D. LGSeta ETQA decision number	LGRS-LGWR510100807
E. Accreditation period from	12-Oct-15
То	11-Oct-20
F. Your record was last updated on	12-Oct-15

LGSETA's responsibility during the accreditation period:

A. The LGSETA will conduct monitoring and evaluation visit on an annual basis to ensure that the organization continuously complies with the legislative requirements for accreditation and consistently promotes good quality teaching, learning and assessment within its period of accreditation.

Notification of accreditation

LGWR-141

Page 1 of 5



L G S E T A 47 Van Buuren Road, Bedfordview 2007, P O Box 1964, Bedfordview 2008

CREATING GREATER IMPACT Telephone 011-456-8579 Facsimile 011-450-4948 Email info@lgseta.org.za Website http://www.lgseta.org.za

- B. The seta will send a self-evaluation tool to providers on an annual basis to identify provider's needs and this will help the seta to conduct relevant capacity building to providers.
- C. A yearly customer survey will be conducted and providers will be given feedback of the survey.

The Provider's responsibility during the accreditation period:

- A. The training provider's must ensure that the learning programme/s is/are updated and meets the necessary requirements.
- B. Training providers must re-apply for learning programme approval timeously and ensure that it is in line with the replacement Qualification(s)/Unit Standard(s). If any
- C. The Provider must apply for reaccreditation 6 months prior to expiry date of accreditation.
- D. In addition, it is the training provider's responsibility to request for a verification audit once assessments and moderation of learner achievements have been conducted. Please contact the LGSETA ETQA on 011 456 8579 to arrange for the verification visit.
- E. The Provider must apply for the use of the LGseta logo, applications to be addressed to lazaruss@lgseta.co.za.
- F. Providers are not allowed to use the Seta logos without the permission of the seta.

The LGSETA would like to congratulate you on this achievement and your commitment to ensuring quality education is delivered to learners.

Yours sincerely

Notification of accreditation

LGWR-141

Page 2 of 5



L G S E T A 47 Van Buuren Road, Bedfordview 2007, P O Box 1964, Bedfordview 2008

REATING GREATER IMPACT Telephone 011-456-8579 Facsimile 011-450-4948 Email info@lgseta.org.za Website http://www.lgseta.org.za

Pumla Mkele ETQA Manager pumlam@lgseta.co.za



L G S E T A 47 Van Buuren Road, Bedfordview 2007, P O Box 1964, Bedfordview 2008

Telephone 011-456-8579 Facsimile 011-450-4948 Email info@lgseta.org.za Website http://www.lgseta.org.za

Your organization's accreditation status are specifically associated with the following:

Registered assessor/s linked to your organisation

				Registration	
	Identifier	Surname	Name	From	То
1	LGRS-A1006-746	Pryde	Garry	10/19/2011	10/18/2014
2	LGRS-A1006-1046	Maseko	Brian	6/1/2015	5/31/2018
3	LGRS-A1006-1065	Phofa	Tshabalala	3/11/2013	3/10/2016
4	LGRS-A1208-533	Marnitz	Roland	8/17/2012	8/17/2015
5	LGRS-A1210-386	Potgieter	Monica	10/6/2015	10/5/2018
6	LGRS-A1210-243	Makubetse	Priscilla	10/24/2012	10/24/2015
7	LGRS-A1210-098	Shibe	Sizwe	9/23/2015	9/22/2018
8	LGRS-A1210-811	Phathekile	Hector	10/24/2012	10/24/2015
9	LGRS-A1210-019	Mashimbyi	Richard	9/23/2015	9/22/2018
10	LGRS-A1301-254	Tshabalala	Jan	1/17/2013	1/17/2016
11	LGRS-A1302-913	Marase	Joseph	2/13/2013	2/13/2016
12	LGRS-A1305-782	Gili	Thulani	5/3/2013	5/2/2016
13	LGRS-A1309-164	Molema	Edward	9/13/2013	9/12/2016
14	LGRS-A1506-070	Mothupi	Solomon	6/1/2015	5/31/2018

Registered moderator/s linked to your organisation

				Registration	
	Identifier	Last Name	Name	From	То
1	M-LGRS746	PRYDE	GARRY	2/18/2013	2/18/2016
2	Mod597BriMa0113	Maseko	Brian	1/9/2013	1/9/2016

Unit Standard/s linked to your organisation

			Provision date	
	Unit Standard ID Title		From	То
1	115223	Demonstrate awareness and take initial actions at a hazardous materials incident	10/12/2015	10/11/2018

ETQA approval number: LGRS-US-LGWR--120315

Notification of accreditation LGWR-141 Page 4 of 5

[&]quot;To be first among the best in skills development for a better life for all"



L G S E T A 47 Van Buuren Road, Bedfordview 2007, P O Box 1964, Bedfordview 2008 REATING GREATER IMPACT Telephone 011-456-8579 Facsimile 011-450-4948 Email info@lgseta.org.za Website http://www.lgseta.org.za

12484 Perform basic t		sic fire fighting	10/12/2015	10/11/2018
ETQA approval	number:	LGRS-US-LGWR120315		
3 242852 Use a self-c		contained breathing apparatus	10/12/2015	10/11/2018
ETQA approval	number:	LGRS-US-LGWR120315		
110075 Apply basic		fire fighting techniques	10/12/2015	10/11/2018
ETQA approval	number:	LGRS-US-LGWR101005		
5 252250 Apply fire fig ETQA approval number:		ghting techniques	10/12/2015	10/11/2018
		LGRS-US-LGWR111209		
	ETQA approval 242852 ETQA approval 110075 ETQA approval 252250	ETQA approval number: 242852 Use a self-or ETQA approval number: 110075 Apply basic ETQA approval number: 252250 Apply fire fire	ETQA approval number: LGRS-US-LGWR120315 242852 Use a self-contained breathing apparatus ETQA approval number: LGRS-US-LGWR120315 110075 Apply basic fire fighting techniques ETQA approval number: LGRS-US-LGWR101005 252250 Apply fire fighting techniques	ETQA approval number: LGRS-US-LGWR120315 242852 Use a self-contained breathing apparatus 10/12/2015 ETQA approval number: LGRS-US-LGWR120315 110075 Apply basic fire fighting techniques 10/12/2015 ETQA approval number: LGRS-US-LGWR101005 252250 Apply fire fighting techniques 10/12/2015